Q ID |Question Stimulus Op.no |Option Text
Entomology is a science that is related to? Behavior of a human being
Insects

The origin and history of technical and scientific terms

Formation of Rocks

For which of the following disciplines is Nobel Prize awarded?

Physics and Chemistry

Medicine

Literature, Peace and Economy

All of the above

The member countries of BRICS are

Britain, Russia, Ireland, Canada and Sweden

Brazil, Russia, Indonesia, China and South Africa

Brazil, Russia, India, China and South Africa

Britain, Russia, India, Canada and Spain

How many times a person can attempt for re-election as the President of India?

Only thrice

Only once

Only twice

Any number of times

Which of the following does not involve in the study of microeconomics?

Households

Industries

Individual consumers

Economic aggregates

A compact disc (CD) is a type of storage media.

Electrical

Magnetic

Optical

None of these

Which of the following is not correctly matched?

Cyrus Mistry : Tata Group

Sheryl Sandberg : Facebook

Larry Page : Google
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Deepak Parekh : HFCL

The cost that changes in proportion to the goods or services that a business produces is
termed as

-

Opportunity cost

Average cost

Variable cost

Marginal cost

The speaker of the Lok Sabha appoints who among the following?

Leader of Opposition

Prime minister

Two members of the Anglo-Indian community
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Deputy Speaker of the Lok Sabha




Who among the following non-members has the right to participate in the proceedings

10  |of the Parliament, though not to vote? 1 RBI Governor

10 2 CBI chief

10 3 Attorney General

10 4 Chief Justice of India
Though slavery was abolished throughout the British Empire through the Slavery

11  |Abolition Act 1833, slavery was abolished in India Slavery Act of 1 1835

11 2 1838

11 3 1839

11 4 1843
A quick-growing crop planted between two regular crops grown in consecutive

12 |seasons, is called a 1 Substitute crop

12 2 Middle crop

12 3 Cash crop

12 4 Catch crop

13  |Which of the following pairs of cities and countries is NOT matched correctly? 1|Istanbul - Turkey

13 2|Marseille — Spain

13 3|Hamburg — Germany

13 4|Florence — Italy

14 |“One People, One State, One leader” was the policy of 1 Hitler

14 2 Mussolini

14 3 Stalin

14 4 Putin

15 |Which country launched a rocket to place record 22 satellites in space? 1 UAE

15 2 USA

15 3 China

15 4 Russia

16 |Indian Women’s Hockey Team won which position in the Asia Cup 2022? 1 First

16 2 Second

16 3 Third

16 4 Fourth

17  |Which movie won the best picture (Drama) award in the 78th Golden Globes award? 1 Yentl

17 2 Nomadland

17 3 The Crown

17 4 Soul

18 |Galileo was an Italian astronomer who 1 developed the telescope

18 2 discovered four satellites of Jupiter




discovered that the movement of pendulum produces a

18 3 regular time measurement
18 4 All of the above

19  |Friction can be reduced by changing from 1 sliding to rolling

19 2 rolling to sliding

19 3 potential energy to Kinetic energy
19 4 dynamic to static

20 Film and TV institute of India is located at 1 Pune (Maharashtra)
20 2 Rajkot (Gujarat)

20 3 Pimpri (Maharashtra)
20 4 Perambur (Tamilnadu)
21 Even after repeated warnings, he ......... to office on time 1 never come

21 2 never comes

21 3 is never coming

21 4 have never come

22 Some people can ......... even with murder 1 get on

22 2 get out

22 3 get off

22 4 get away

23 She......... TV when her husband came 1 watch

23 2 was watching

23 3 is watching

23 4 WA

24 Select Correct Word 1 Aceleration

24 2 Aceeleration

24 3 Accelaration

24 4 Acceleration

25  |Jawaharlal spent his childhood Anand Bhawan 1 at

25 2 in

25 3 on

25 4 across

26 Voracious..... 1 tenacious

26 2 truthful

26 3 spacious

26 4 ravenous

27  |They listened to him — 1 spellbinded

27 2 spellbind

27 3 spellbinding

27 4 spellbound




28 Suguganya got as an officer in the State bank of India 1 appoint

28 2 appointed

28 3 appoints

28 4 appointee

29  |Select the proper prefix: Editor- 1 bye

29 2 sub

29 3 joint

29 4 bi

30 |Life is not a bed —- roses 1 With

30 2 of

30 3 for

30 4 off

31 Selfish people will not come forward others 1 help

31 2 to help

31 3 to helping

31 4 to helped

32 Waiting for a bus is a — experience 1 Kill

32 2 Kills

32 3 Killing

32 4 Is Killing
It would be difficult for one so ......... to believe that all men are equal irrespective of

33 caste, race and religion 1 emotional

33 2 democratic

33 3 intolerant

33 4 liberal

34  |Prasanna had a good — for stage plays 1 trup

34 2 troop

34 3 trupe

34 4 Troupe

35 |The king died — 1 hareless

35 2 heirless

35 3 hairless

35 4 Airless

36  |Head Over Heels 1 Study hard

36 2 Living in luxury

36 3 Very excited

36 4 Conflict

37 |Theking rebel 1 excused

37 2 forgave




37 3 pardoned
37 4 none of these
38  |He passed himself off as a noble man 1 Pretended to be
38 2 Was looked upon
38 3 Was regarded as
38 4 Was thought to be
39 My shoes need 1 mend
39 2 mended
39 3 mending
39 4 being mended
40 |My boss wants the work before long 1 finish
40 2 finished
40 3 finishing
40 4 finishes
41  |Square root of 64 is 1 8
41 2 S
41 3 10
41 4 1
42 |cube of 16 is 1 4096
42 2 5222
42 3 1000
42 4 None of the above
Adam sat with his friends in the Chinnaswamy stadium at Madurai to watch the 100
43 metres running race organized by the Asian Athletics Association. Five rounds were 1 30
run. After every round half the teams were eliminated. Finally, one team wins the
game. How many teams participated in the race?
43 2 32
43 3 41
43 4 54
44 Kiran had been working in a bank for some years. 1 Past perfect continuous
44 2 Simple past
44 3 Past perfect.
44 4 None of the above
45 Select the correct plural form for the given word: 1 Brushs
Brush
45 2 Brush
45 3 Brushies
45 4 Brushes




Pick out the most effective words from the given words to fill in the blank to make the

46  |sentence meaningfully complete. 1 am living, until
I with my sister | find an apartment.
46 2 have been living, since
46 3 had lived, since
46 4 had been living, since
47 In the foIIovv.ir.lg guestion, select the related word from the given alternatives. 1 Shoot * Death
Insult : Humiliation
47 2 Abuse : Happy
47 3 Injury : Pungent
47 4 None of the above
48  [The 100 toys cost Rs. 300 how much the 280 toys will cost? 1 900
48 2 840
48 3 1000
48 4 None of the above
The following question, consist of two words each that have a certain relationship to
49 each other_, follqwed by fogr_lettere(_j pairs of words. Select the lettered pair that has the 1 Often : Rarely
same relationship as the original pair of words.
Always : Never
49 2 Frequently : Normally
49 3 Constantly : Frequently
49 4 Intermittently : Casually
50 Given following sequence, find the next term in the series: 1 20
0,2,4,6,8,12, 12, 20, 16,
50 2 30
50 3 24
50 4 18
All men are vertebrates. Some mammals are vertebrates. Which of the following
51 . . 1 All men are mammals
conclusions drawn from the above statement is correct?
51 2 All mammals are men
51 3 Some vertebrates are mammals.
51 4 All are correct
Select the correct tense:
52 She had played carrom. ! Future perfect
52 2 Past perfect
52 3 Present perfect
52 4 Simple present
53 Select the correct plural form for the given word: 1 Countrys

Country




53 2 Countryes
53 3 Countries
53 4 Countrees
54 Select the correct plural form for the given word: 1 Mice
Mouse
54 2 Mouses
54 3 Mices
54 4 Mouese
Pick out the most effective words from the given words to fill in the blank to make the
55 |sentence meaningfully complete. 1 were telephoning, watched
You when | the television yesterday at eight p.m.
55 2 was telephoning, was watching
55 3 had telephoned, was watched
55 4 telephoned, was watching
56 Which city is known as the world of fashion? 1 Paris
56 2 Mumbai
56 3 californio
56 4 None of the above
57 What is the name of hereditary dress of Indian Women? 1 Salwar
57 2 Skirt
57 3 Saree
57 4 Ghaghra
58 |What is the name of the loose covering for the shoulder? 1 Shawl
58 2 Coat
58 3 Jacket
58 4 muffler
59 Which is cool colours ? 1 Red
59 2 Orange
59 3 Green
59 4 Yellow
60  |What is the name of the sample piece of cloth? 1 Swatch
60 2 Piece
60 3 material
60 4 cloth
61 What is the name of the trousers reaching only to knees? 1 Shorts
61 2 Cargos
61 3 Capries
61 4 boxers
62  |What is the name of sleeping suit? 1 Pyjamas




62 2 Salwar
62 3 Kurta
62 4 Skirts
63  |Which are the natural fibers ? 1 Cotton
63 2 Nylon
63 3 Ployster
63 4 Chiffon
The attainment of individual and organisational goals is mutually interdependent and
linked by a common denominator - employee work motivation. Organisational 1
members are motivated to satisfy their personal goals, and they contribute their efforts
to the attainment of organisational objectives as means of achieving these personal encourages an individual to give priority to personal
64 goals. The passage best supports the statement that motivation - goals over organisational goals.
64 2 is crucial for the survival of an individual and organisation.
3 is the external force which induces an individual to
64 contribute his efforts.
64 4 makes organisation and society inseparable.
The future of women in India is quite bright and let us hope that they will justify their
abilities by rising to the occasion. Napoleon was right when he declared that by
educating the women we can educate the whole nation. Because a country can never 1
rise without the contribution of 50% of their population. The passage best supports the
65 |statement that: India is striving hard for the emancipation of women.
65 2 all women should be well educated.
3 a nation can progress only when women are given equal
65 rights and opportunities as men.
women ought to be imparted full freedom to prove
4 their worth and contribute to the progress of the
65 nation.
The prices of petrol and diesel in the domestic market have remained unchanged for
the past few months.The crude oil prices in the international market have gone up 1
66  |substantially in the last few months. Statement | is the cause and statement 1l is its effect
66 2 Statement |1 is the cause and statement | is its effect
66 3 Both the statements | and 1l are independent causes
4 Both the statements | and 11 are effects of independent
66 causes
67 Marathon is to race as hibernation is to 1 winter
67 2 bear
67 3 dream




67 4 sleep
68  |Window is to pane as book is to 1 novel
68 2 glass
68 3 cover
68 4 page
69  |Sponge is to porous as rubber is to 1 massive
69 2 solid
69 3 elastic
69 4 inflexible
70 |BINDING : BOOK 1 criminal : gang
70 2 display : museum
70 3 nail : hammer
70 4 frame : picture
71 EXPLORE : DISCOVER 1 read : skim
71 2 research : learn
71 3 write : print
71 4 think : relate
72 FAG, GAF, HAI, IAH, 1 JAK
72 2 HAL
72 3 HAK
72 4 JAI

Find the number of triangles in the given figure ?

/N :

73 21
73 2 15
73 3 18
73 4 20
74 Look at this series: 12, 11, 13, 12, 14, 13, ... What number should come next? 1 10
74 2 16
74 3 13
74 4 15
75  |Which word is the odd man out? 1 hate
75 2 fondness
75 3 liking
75 4 attachment




76 Melt : Liquid :: Freeze : 1 Ice
76 2 Solid
76 3 Condense
76 4 Push
A Tiebreaker is an additional contest carried out to establish a winner among tied
contestants. Choose one situation from the options below that best represents a 1
77 |Tiebreaker. At halftime, the score is tied at 2-2 in a football match.
77 2 Serena and Maria have each secured 1 set in the game.
The umpire tosses a coin to decide which team will have
3 .
77 bat first.
77 4 RCB and KKR each finished at 140 all out.
78  |What was the day of the week on 17th June, 1998? 1 Monday
78 2 Tuesday
78 3 Wednesday
78 4 Thursday
A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 1
79  |years. The sumis: Rs. 650
79 2 Rs. 690
79 3 Rs. 698
79 4 Rs. 700
80 |@12x5%=7; 1 67000
80 2 70000
80 3 71650
80 4 72500
What least number must be added to 1056, so that the sum is completely divisible by 1
81 ]23? 2
81 2 3
81 3 18
81 4 21
82 How many times the hands of a clock coincide in a day? 1 24
82 2 22
82 3 23
82 4 21
83 |What is the HCF of 1095 and 1168? 1 37
83 2 73
83 3 43
83 4 83
84 cube of 16 is 1 4096




84 2 5222
84 3 1000
84 4 None of the above
85 |Filmand TV institute of India is located at 1 Pune (Maharashtra)
85 2 Rajkot (Gujarat)
85 3 Pimpri (Maharashtra)
85 4 Perambur (Tamilnadu)
86  |The ozone layer restricts 1 Visible light
86 2 Infrared radiation
86 3 X-rays and gamma rays
86 4 Ultraviolet radiation
87 Mark the odd one out. 1 Weighing scale
87 2 Jogger
87 3 Motor Cycle
87 4 walker
88  [Mark the odd one out. 1 Bandhini
88 2 Kalamkari
88 3 Lycra
88 4 tie & dye
For apparel meant for baby girls less than 1 year of age, the most crucial point is: 1
89 Colour
89 2 Softness
89 3 Durability
89 4 ornamentation
90 |For a kid’s dress, on the first birthday, you keep in mind the fact that it has: 1 Lot of embroidery and lace
90 2 Soft comfortable finish
90 3 Expensive
90 4 None of the above
91 |The selling price of a product is determined by: 1 Cost of material and design
91 2 Profit margin
91 3 Both
91 4 none
92  |A branded garment gives you 1 Quality
92 2 Good colour and design
92 3 Both
92 4 none
93  |For selecting clothes for an interview, you choose: 1 Most expensive outfit
93 2 Most extravagant attire
93 3 Well stitched formals




93 4 none
94 The ‘sale tag’ on any product entitles you for a: 1 Discount
94 2 Special gift
94 3 Money back
94 4 All of the above

You have to go on a mission to spread awareness about your school/college you will: 1
95 Meet teachers to collect the information and brochures
95 2 Refuse to go for the campaign
95 3 Will guide your friends to do the campaign
95 4 All of the above

Ritu Kumar was one of the earliest pioneers of fashion with extensive research in to 1
96 block prints and innovative application of the technique of Phulkari
96 2 Zardosi embroidery
96 3 Mirror work
96 4 Dye-prints
97 |- French term for exclusive one-of-kind “high fashion” 1 Bespoke-shop
97 2 Showroom
97 3 Haute couture’s
97 4 Boutique

is a general term referring to actual objects related to the human
1

98 |body. Costume
98 2 Wardrobe
98 3 Wear ability
98 4 Clothing
S Draped lower garment for men and women. 1 Angarkha
99 2 Flat-front
99 3 Antariya
99 4 Patiala salwar

From the late 19th century a dust coloured light weight cotton fabric called --------------- 1
100 |--- was used by the Indian Army during the British Raj. Poplin
100 2 Khaki
100 3 Silk
100 4 Polyester







